Mathematics 108 Name: ArSwER KEY A
Big Quiz (Sections A.1, A.2 & 1.1-1.3) February 6, 2009 v

Use of Calculators is NOT permitted on this quiz. Please put all answers oh this page, and in

hoxes | or on the lines provided. Show all work neatly on this sheet or on your scratch paper.

1. Rewrite each of the following expressions, changing to exponential form if necessary, and
using a single exponent.

a) (a“)G: A\”‘ - @

o (5= () e

-8 -g-0-3} 343 -5
C) —yj‘: &) H k:) =\Lj oY \j’s}

d) (x+Dx+T)x+T)(x+7)

I

((41\4

2. Solve forx: x° =9x°
-9 =0
(*-13=0
3. Let f(x)=2x>+x~1. Calculate and simplify the difference quotient

3(x+3Y¥-3)= 0

‘\:“‘;‘1;”5”,; -3 x;j”l

fG+m) - f(x)
h

2(xns (wan) -l = (22 4%71Y o 2 (wihzma b e A T gk Wk
- D : N
X%, ifx<2 ; = w (k) QT
4 Let h(x)={ ° if x , | - | e \ Hxd2ht)
-x+3, ifx>2
a) Calculate: h(-D= (-1~
h(2) = 2¥ = ¢

h(3)= -243=0

b) Graph the function A(x)below. Be sure to label your axes clearly and identify all important
oints.
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5. Given the functions f(x)=+/x+3 and g(x)= i—i find the following. You do not need to

simplify your answers Extra credit for correctly finding the domain of the composed function.

;: v L 4 NE ,3-}"%7 !
a) f(g(x)) “f{ rgar} :J 43 -\ Y_f_’?f%_i) < WW Immmt\ﬂ ,,’_;374)« 3 4,
b) g(f(x)= gmsu, (5B pan: jx 23 % %137 e ]
ma ‘* ) Y'l-/ﬁy'l)*»l' ::" - + 5:
6. What is the domain of each of the following functions? L S e T
e <357 - +
| -5 s
a) f(x)=+v2x+6 Domain = \ f?t\)ﬂ 35/ , : >
Priu?0o 2x2-b \,‘ I B
' - —4x ] )>
b) g(x)=— Domain =| [R, (>4 Newer lb,ualda
x°+1 .
-5+{33
c) f(x):____——-—zzx+1 Domam—k"' iJ '
X +3x-2 A,(; x*$8%x -2 —Ua,,. ~5"J Z‘ (/)[ 2) ;"5f {.;3
: : p E>
7. Consider the points (~1,2)and (3,-10):
a) What is the slope of the lme through the two points?
2-1- ﬁ y
-3 ° -»( La , ‘
b) What is the equation, in slope- 1nterceot form, of the line through the points?
- -3(- : . s34~ s -3 xdl)z 3% -3
d=-3(-D4b > 3t &= - Ig 3a-1] e ye2 I
What is an equation (in any. form) of the line through (2, 4) and parallel to the line above?
\ 5,44.'5(,:-2)/ m e s Bt .13.: cZed10
2 ——8—Consider the function f(x)=x*-6x+8. Find the following: b
q @) x-intercept(s) ¥.= Y, ¥:2 (4 -4 Ni-22:0 Let %= i:oq );'_22_'
\ b) y-intercept (0,3) f"”)‘ v - Lo+t 4
. ) b -C-b) . q. .
5 © vertex (both coordinates) (3+ l) i T g o= 3 L063)=9-184¥= -}

d) graph the function f(x)=x*-6x+8.
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~Use of Calculators is NOT permitted on this quiz. Please put all answers on this page, and in

hoxes |oOr on the lines provided. Show all work neatly on this sheet or on your scratch paper.

e 1. Rewrit.e each' of the following expressions, changing to exponential form if necessary,
2 0% and using a single exponent:
-7 . . ) !
X ~T743 _ -4 : .
a) —7—3— = - ¥ =% ov JX."

b) (b3)5 :N L :@

O (x-Nx-NE-NE-NE-3)=\& -5 |

o W= )=y |

2. Solve for x. x*=16x2
"(x+~})(>¢—‘/)‘ o

‘ \.\F»M oy =D ’ e
v ,. - =9 x=
*(‘,L ~1L) =0 B 0 o ".ﬂ

+h) -
3. Let f(x)=3x>+x-2. Calculate and smphfy the difference quotient flx }z J(x) .
EIC S L P T C SN R ( IR 2) _ {74 2xbtly m+f’ ’:/& - :ilm/é»wf 3’”{{:&&”‘ 3"' 7&5’;”?4“6
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(7.
< }(((ox+3k 'H) '

odfx<l
4. Let g(x) = X, fx . C _ :
-x+4, if x>1 I . 6\44’;K+j
N a) Calculate: g()= -214d=72 - ;

gh)= 12+
g(-2)= (-2>*=

b) Graph the function g(x)below. Be sure to label your axes clearly and identify all
important points.
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5. Given the functions f(x)= d and g(x) = x -2, find the following. You do not need to

simplify your answers. Extra credlt for correctly fi ndmg the domain of the composed function.

a) f(g(x)= [({~- FERER (“‘J 1 '(:1 (vivetam o (x| X222 x53) )

THTRIED= N [T e T2 e
L\c)'g ;’, }“lx'z'l'ﬁ“ ' f-zj A—t LA % L_i
6. What is the domain of each’ of the follov?ﬁ'leg functions? Asfsex ] SRR S PP
+ - + -
2x +1 . » L o
2) f(x)Z—;——,;~—l Domain = Zy_'y:’ ,75(;3} Lk x¥47y-1 2D
x“+Tx - —
s = - 7_:;@.”1.).
-x L >
b) g(x)= s Domain = | (%44 4o ﬁ“”’*ﬂ') : - Tives T
yeul valiae ﬁ)y 2
c) f(x)=+3x+6 Domain = Ly,‘ x2- 272
: ‘ Lk 3w+ 06 206
7. Consider the points (~1,1)and (2,-11): | 3% 2 -4
a) What is the slope of the line through the two points? ' xZ-%
~ ) - 12 -
iz e (=YY T : ,
b) What is the equation, in slope-intercept form, of the line through the points?
5" -dx 4y - Yy -d :/J‘j Uy - ?J r So)u(({,a beasing ﬂfku?m,d
¢) What is an equat1on (in any form) of the line through (3, 4) and parallel to the line above?
19 -4= -uty -3), R T
8. Consider the functlon f (x)=x*+6x+8. Fmd the following:
a) x-intercept(s) x= - ¥--2 w24bx4% =0 (v <)iwdz )z o
’ XxX= - d *= 2
b) y-intercept 3:? (ov (o,t)) f0)= 010 +3 |
c) vertex (both coordinates) (-3 -1 -5 :E— -3 =y Fe3)- C3>*460-9)4¥
1 24 A
. = -134§ =
d) graph the function: | B
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